Câu 38.
[2D4-3.2-4] (Mã đề 101 BGD&ĐT NĂM 2018) Có bao nhiêu số phức 
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Chọn B.
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Lấy module 2 vế ta được
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Phương trình 
[image: image13.wmf](

)

1

 trở thành 

[image: image14.wmf](

)

(

)

(

)

222

2

542

1

tttt

éù

=

û

+

-

ë

+

-



 EMBED Equation.DSMT4 [image: image15.wmf](

)

222

10261744

ttttt

Û-+=-+

 


[image: image16.wmf]432

109440

tttt

Û-++-=

 
[image: image17.wmf](

)

(

)

32

1940

ttt

Û--+=



[image: image18.wmf]32

1

940

t

tt

=

é

Û

ê

-+=

ë



 EMBED Equation.DSMT4 [image: image19.wmf](

)

(

)

(

)

(

)

8,95

0,69

1

0,64

t

n

tn

tl

n

t

»

»

»-

=

é

ê

ê

Û

ê

ê

ê

ë

 .

Ứng với mỗi giá trị 
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